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Test 1 (A)

Question 1. (10 marks.) Solve for x in the following equations:
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Question 2. (10 marks.) Solve the following linear inequalities. Give fhe solution graph and
solution set (indicate which is which).
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~" Question 3 (5 marks.) The first side of a triangle is 4cm lonoger than the base of the triangle. The
second side is 3cm longer than the first side. If the perimeter is 26cm find the length of each side.
LeT K Be THe ced T av e DasET
44 ‘

™HeN oty (5 e T FEST sipe

- ¢ i N T
Porni () é&‘o +3 15 THE : SR orsl S0

U (ra) e XPT) = 20

3t =2¢
Ix=1/5
K=

TS £ e e :
THE £ £elde 1S Tem  Lowd S TR SeTond 1
(Zevn LomfC At s LA |
m © THE elza ) L tonfe
< Question 4. (4 marks.) Solve for T, in the following:
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Question 6. (7 marks. )> » v
~ (a) Find the slope-intercept form of the equation of the line that passes through the point (7, 3) and

parallel to the line 14x = 7y — 52.

O = — | sesPe  NTEw e T Foart
o ;5"52 } Q= 7ot
IHx +82 = %a | . '
4 ! | 3= 2(1) b
Ro= [ o &5 :
JT 5 = 2 =14 15
% Lo
o - L S2 § -1l =
5 = g‘?( -—-:—?; i .
a = Ao~
o= 2 .

AHE CieT  ARe PAALLED.

OVl Seses 1D = 2

'/ (b) State whether the slopes of the following lines are positive, negative, zero or undefined.
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/Question 7. (5 marks. ) Given that the lines 5x+2y = 17 and kx — 7y = 13 are perpendicular find k.
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'/Question 8 (7 marks.) In a certain city the taxi fare for a 6km trip is $13 and $20 for a 10km trip.
(a) Express the fare y in a linear equation with a distance of the trip in km, x.

(b) What is the starting charge of the taxi fare?
(¢) How far can someone travel for $46.25?
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/Question 9. (6Imarks.) Graph —-3x+8y+9>0 y 2 vl OAEY Ling - B 86 4+ =0
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_~Question 10. (5 marks.) : :
(a) Plot the points (—3,—1), (1,—1), (1,2), (—3,5) on the rectangular coordinate system.
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4 Question 11. (5 marks.) Solve the following system to find the point of intersection of the lines:

4 — 5y =11
Sx — 3y =17
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Question 12. (5 marks.) A bank teller has $1420 in ten and twenty dollar bills. Using linear
equations, find the number of tens and twenty dollar bills he has if he has 109 bills in total.
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Question 13. (5 marks.) Find each angle.
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